Rk 2 5 AR E
1 =R

IS 1205276 53T M.

KEFES

ARG O

e FH13(%8, 456 76 TH <, M KIXIES, 1803 THIZAR 0 £ L,

NREIZ. kO LB TT, (HAL - T - %)
S o7 Rk 254 i R 244 Fl b fif
fa 7K I B 1,131, 372 1, 151, 566 A 20, 194 A 1.8
= Ef ok L= IN & 4, 607 5, 393 A\ 786 A 14.6
i K oE A OB M A 4 18, 070 11, 420 6, 650 58. 2
I 1t éa\ i oM B & 6, 000 7, 000 A 1,000 A 14.3
2% E & PE e #l 4% (a) 13,114 0 13, 114 Loy
* D 1t 29, 600 23, 386 6, 214 26.6
& 5 W 1,202, 763 1,198, 765 3, 998 0.3
A 2 E3 121, 814 102, 193 19, 621 19.2
W) 2 # 18, 273 17, 595 678 3.9
& s b 21, 603 21, 474 129 0.6
&) VA # 8, 760 8, 345 415 5.0
% | X 7K # 500, 452 503, 663 A 3,211 A 0.6
53 A il B 164, 826 172, 498 A 7,672 A 4.4
E S T = - ¢ 438, 813 436, 477 2,336 0.5
- ¢ 8,818 33, 591 A 24,773 A 73,7
Tl o B E E A 830 830 0 0.0
% it Bt 85, 272 82, 282 2,990 3.6
M= iﬁ& Bt 4, 205 4,178 27 0.6
1~ ¥ o & 6, 000 7, 000 A 1,000 A 14.3
K il i % (b) 12 411 A 399 A 97.1
z %) 1t 4, 888 4, 406 482 10.9
& & (B 1, 384, 566 1, 394, 943 A 10, 377 A 0.7
éﬁ&“%ﬂﬁ#ﬁﬁ%{(m (b)}-{)-(a)} 194, 905 195, 767 862 0.4
WMOoE E M OE K B-0W 181, 803 196, 178 14, 375 7.3
APUKEIm S 70 AT, RO LB TT,
[X. 57 Rk 26 4F i R 244 FiE L HE IR = (%)
i 7 il S 202F90%% 2031 228% A0 328% A 0.2
% E Jii il 246298k 244 118% 2 1888 0.9
7= El A 43[398% A 40[89%% A2[508% —
OB FE k202908, A= pEJF 2462988 T, 1mIZ > &43M398 8D KIBL 720 £ L7=,
2 EBE&R
AAEFE DOAERIBL K B 136, 515, 288m T, AIEE 3. 0% D &7 £ L7,
NEIZ, RO LB TT,
X o k254 i R 244 i LR HIE 8 I =g (%)
e 7K A H A 45,982 46, 645 A 663 A 1.4
#a 7K (=5 AR 22, 263 22,312 A 49 A 0.2
Aid 7K = om 6,515, 288 6, 718, 314 A 203, 026 A 3.0
N1 H & XK | m 21, 744 22,532 A 788 A 3.5
Rl H F ¥H|m 17, 850 18, 406 /\ 556 A 3.0
2l X 7K | o 5,576, 138 5, 666, 633 A 90, 495 A 1.6
Ao Kk BOE] % 85. 6 84.3 1.3 1.5
3 MR BAGR
< FEJi F B >
%Fﬁﬂﬁﬁ%ﬁﬁ%% TEH/E) IR/ FER 896. 2m (124, 698TH)
BRI R % /3 | LT 70 6m (7, 581 T[)
%%ﬁm KM R /NERBKEE Bl R B 8 (21, 000TF)
<%@m>
B WEASOM A 2545 4, 3005 B3t (S56~H25)  41f& 3004 H
(H26~H31) 1143, 20051
4  ZFDih
- BEXES WK 4EL 201561 H




